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Exercisz 1 +#%-81 1

Exercise 1 7% ~#&}

I-19 is a busy highway.

I-90 is the only busy highway.
1-19 is not a busy highway.
1-90 is a busy highway.

The suitcase is not heavy.

The suitcase weighs sixteen pounds to: much.
The weight of the suitcase is sixty pounds,
You will not need to pay extira.

The new address of the International (ffice is 70
South Speedway.

The International Office used to be located at 70
South Speedway.

Seventeen South Speedway is where the International
Office has moved.

The International Office has always veen located

at 17 South Speedway.

A doctoral degree will be awarded to ‘orty studeats
this semester.

Fourteen industrial! engineers will receive their
Ph.Ds this semester.

The Industrial Engineering Department does not
award a doctoral degree.

This semester fourteen students were enrolled ia
the Industrial Engineering Department.

It costs eighteen dollars to go to Washington.
Eighty dollars is the price of a ticket to
Washington.

A ticket to Washington costs eight dollars.

One way to go to Washington is to buy a ticket.

There are fifteen minutes left for this section of
the test.

It took fifteen minutes to finish this section of
the test.

In five minutes you must finish this section of the
test.

You have finished this section of the test in fifty
minutes.
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(D)

(4)
(B)
()
(D)

Jane's room is on the fourteenth floor.
Jane's room is the first one.

Parks Tower has forty floors.

Room fourteen is Jane's.

A telephone call to Miami costs fifty cents after
five o'clock,

Fifty cents is the price of a five-minute call to
Miami.

After five o'clock a call to Miami costs fifteen
cents.

Before five o'clock it costs fifteen cents to
call Miami. '

This semester one of the English classes will
meet in room 70.

English classes will all meet in room 170 this
semester. v
Room 117 is the meeting place for all English
classes.

One English class in room 17 will neet this
semester.

The first fifty problems are assigned.

Your homework assignment can be found on page 60.
The problems on page 16 are assigned.

Page 15 is your first assignment.

Thirteen degrees was the low temperature today.
Today's temperature was thirty degrees lower than
it was yesterday.

Thirty degrees was today's low temperature.

The low temperature today was three degrees,

Tomorrow morning I need eight copies.

I made eighty copies for my meeting.

I have eight meetings tomorrow.

At eight o'clock tomorrow morning I will need
eighteen copies.

Thirty-one is the rate of exchange.
Thirty-to-one is the rate of exchange.
Thirteen~to-one is the rate of exchange.
Three-to~one is the rate of exchange.
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Exercise | +#%-#+ 3

A size large in this style would be « forty.
There are fourteen styles in size large.
There is a large selection in size forty.

In this style a size large is a fourteen.

Channel Three carries CBS news.
Channel Six carries CBS news.
Channel Thirteen carries CBS news.
Channel Thirty carries CBS news.

There are ninety answers in the textbooks.
All of the answers are on page 9.

The textbooks have only nineteen pages.
Page 90 has the answers on it.

The package requires eighty cents posztage.

It will cost eighteen cents tc mail the package.
This package needs eight stamps.

One more eight-~cent stamp is needed 1o mail thig
package.

The flight at gate two is number fourteen.
The flight to Dallas is number forty-two.
The flight now boarding is number forty.
The flight at gate two is new.

The score achieved by half of the stuients tested
was 450.

Eighty-five percent of the students passed the
examination.

More than 415 points was the score that half of
the students received.

A score of 450 or more was achieved by 15 percent
of the students tested.

John will have his fortieth birthday in November.
On November fourteenth John will celebrate his
birthday.

John 1is twelve years old now.

John's birthday is on November thirtieth.
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Exercise 1 W&

1. (D)
I1-90 is one of the busiest interstate highways in the nation.
(A) 1-19 is a busy highway.
(B) 1-90 is the only busy highway.
{©) 1-19 is not a busy highway,
@ I-90 is a busy highway.

2. (C)
Since your suitcase weighs sixty pounds, you’ll have to pay
overweight .
(A) The suitcase is not heavy.
(B) The suitcase weighs sixteen pounds too much.
{© The weight of the suitcase is sixty pounds.
D) You will not need to pay extra.

3.(A)
The International Office has moved to 70 South Speed-
way. «
(A) The new address of the International Office is 70
South Spevdway.
(8 The International Office used to be located at 70
South Speedway.
{C) Seventeen Soutt Speedway is where the International
Office has moved.
(D) The International Office has always been located at
17 South Speedway.
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4 (A)

Forty students will receive their Ph. D). degrees in industrial
engineering this semester.
(A) A doctoral degree will be awarded to forty students
this semester.
(B Fourteen industrial engineers will receive their Ph.In%s
this semester.
{C) The Industrial Engineering Department does not award
a doctoral degree.
(D) This semester fourteen students were enrolled in the
Industrial Engineering Department.

* doctoral [ ‘dakteral’ adj 18t @ award ( 9 word ) ot By

5 (B)
A one-way ticket to Washington costs eighty doliars.
{A) It costs eighteen dollars to go to Washington.
(B) Eighty dollars is the price of a ticket to Washing
© A ticket to Washington costs eight doliars.
(D) One way to go to Washington is to buy a ticket.

* one-way ticket 8 (MBS ; [ RBEIR | GEHS round-trip ticket ,
AXHEB return ticket o

6. (A)
You have fifteen minutes to finish this section of the test.

(A} There are fifteen minutes left for this section of the
test.

(B) It took fifteen minutes to finish this section of the test.

) In five minutes you must finish this section of the test.

(M You have finished this section of the test in fifty
minutes.
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7 (D)
Jane lives in room fourteen on the first floor of Parks
Tower.
(A) Jane’s room is on the fourteenth floor.
{B) Jane’s room is the first one.

(C) Parks Tower has forty floors.
(D) Room fourteen is Jane’s.

8 (C)
It only costs fifteen cents to call Miami after five o’clock.

(A) A telephone call to Miami costs fifty cents after
five o’clock. ‘

(B Fifty cents is the price of a five -minute call to
Miami.

© After five o’clock a call to Miami costs fifteen
cents.

(D) Before five o’clock it costs fifteen cents to call
Miami.

9. (B)
All of the English classes will meet in room 170 this se-
mester.

(A) This semester one of the English classes will meet in
room 70.

(B) English classes will all meet in room 170 this se-
mester.

{C) Room 117 is the meeting place for all English clas-
ses.

(D) One English class in room 17 will meet this semes-
ter.
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0. (C)
Turn to page 16 in your tex:books, and do the first fifteen
problems.

(A) The first fifty problems are assigned.
(B Your homework assignment can be found on page 60.
{Ct The problems on page 16 are assigned.
(D) Page 15 is your first assignment.
* assign ( a'sain i vt. GHE; Bl

assignment { 3’sainmeant J w. @ IR

1. (C)
Today’s low temperature was thirty degrees.

(A) Thirteen degrees was the low temperature today.

(B Today’s temperature was thirty degrees ifower than it
was yesterday.

(C) Thirty degrees was today’s low temperature.

(D) The low temperature today was three degrees.

* low temperature g% &

12 (D)

I need eighteen xerox copies bhefore my eight o clock meeting

tomorrow morning.

(A) Tomorrow morning 1 need eight copies.

(B) 1 made eighty copies for my meeting.

{C) 1 have eight meetings tomorrow.

(D) At eight o’clock tomorrow morning | will need eighteen
copies.

* xerox ( ‘ziraks ) n F Wy
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13.C(C)
The rate of exchange is thirteen-to-one.
(A) Thirty-one is the rate of exchange.
(B Thirty-to-one is the rate of exchange.
(C) Thirteen-to-one is the rate of exchange.

(D) Three-to-one is the rate of exchange.

* rate of exchange #% omzE

14 (D)

A fourteen is a size large in this style.

(A) A size large in this style would be a forty.
(B There are fourteen styles in size large.
(C) There is a large selection in size forty.

(D) In this style a size large is a fourteen.

15. (C)

CBS news is on channel Thirteenat six o’clock.

(A) Channel Three carries CBS news.
(B) Channel Six carries CBS news.

(C) Channel Thirteen carries CBS news.
(D) Channel Thirty carries CBS news.

* CBS ( Columbia Broadcasting System) B &lbiim g, 7

6. (D)
The answers may be found on page 90 in your textbook.
(A) There are ninety answers in the textbooks.
(B) All of the answers are on page 9.
(C) The textbooks have only nineteen pages.
(D) Page 90 has the answers on it.
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7. ( B)
You need an eighteen-cent stamp for this package.
{Ay The package requires eighty cents postage.
(B It will cost eighteen cents to mail the package.
{C) This package needs eight stamps.
(D) One more eight-cent stamp is needed to mail this

package.

B (C)H
Flight forty to Dallas is now boarding at gate two.
{A) The flight at gate two is number fourteen.
(B) The flight to Dallas is number fortv-two.
() The flight now boarding is number fortv.
D) The flight at gate tvo is new

* flight [ flart ) n. RiFHEA
board ([ bord 1 wi. - (B . 488

9. (D)

Fifteen percent of the students who took the «xXamination
scored above 450.

(A) The score achieved by half of the studeats tested
Wit »)(*

(B) Fighty-five percent of the students passed the examn-
ination

& More thar 415 points was the score that half of rthe
studenis received.

(D A score of 450 or more wa achieved by 15 percernt
of the students fewted.

*

score {_ skor, skar) n. 4 wvi., vt [ER 13
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0 (B)
John will be thirty on November fourteenth.
(A) John will have his fortieth birthday in November.
(B On November fourteenth John will celebrate his birth-
day .
(C) John is twelve years old now.
(D) John’s birthday is on November thirtieth.
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Exercise 2 3 #

Exercise 2 &

dresses will cost $16.
dresses will cost $30.
dresses will cost $120.
dresses will cost $60.

bus left at 8:45
bus left at 8:40
bus left at 8:35
bus left at 8:30

City College has 260
In 1960 City College
In 1960 City College

City College

The store opens at
Miss Smith arrives
Miss Smith arrives
store opens at

The

The
The
The
The

The
The
The
The

speaker's salary
speaker's salary
speaker's salary
speaker's salary

plane
plane
plane
plane

left at 11:
:00 noon.
:30 PUM.

left at 12
left at 12

>9:
at 9:30 A.M.,
at 10:00 A.M.
10:30 A. M.

TR
ZEE=

students now.
had 520 students.
had 1040 students.

was founded in 1960,

00 A.M,

is %250.
is $75u.
is $500.
is $125.

30 A.M.

left at 1:00 P.M.

The stadium has room for 100,000 peojle,

7,500 people attended last night's game.

25,000 people attended last night's game,

There were 50,000 people at the game last night.

Sandy
Sandy
Sandy
Sandy

camera.

paid too much
spent $S200 for the camera.
paid $35 less than the regular price for ihe

saved 3165 when she bought the camersa.
for the camera.

11
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9.

10.

11.

12.

13.

.14,

15.

16.

17.

Jane types half as fast as Judy.

Judy types as fast as Jane.

Both Jane and Judy type eighty words a minute.
Jane is a faster typist than Judy.

One end table costs $85.
Each end table costs $75.
A pair of end tables cost $170.
A pair of end tables cost $300.

Bill gets to class at eight o'clock.

Bill does not have a class in the morning.
Bill gets to class at eight-fifteen.

Bill gets to class fifteen minutes before it
begins.

We sold forty tickets.

We expected to sell twenty tickets.
We expected to sell eighty tickets.
We sold eighty tickets.

Dr. Jones's taxi arrived at the airport on time.
Dr. Jones arrived at the airport at 11:30.

Dr. Jones's plane left at 11:00.

Dr. Jones's plane left at 10:30.

) Mr. Black must leave his house at 9:00.

Mr. Black must be at work at 8:30.
Mr. Black must spend an hour driving to work.
Mr. Black must spend a half-hour driving to work.

Alice did not give the teller enough.

The teller charged Alice to cash her check.
Alice was ten dollars short.

The teller was shorter than Alice.

I watched for ten minutes.

It was 9:30 when I set my watch,

The time is 9:20,

I set my watch ahead thirty minutes,

- We should make a double recipe,

We should make half a recipe,
We should make ten recipes.
We should make twenty recipes.



18.

19.

20.

(A)
(B)
(C)
(D)

Exercise 2 38 13

Lo and Carole live half a mile frowm State
University.

Bob and Carole walk one mile from murried student
housing to State University.

Bob and Carole live one mile from 3wate University
in married student housing.

Bob and Carole take the bus one mile to State
University.

John arrived for the twelve o'clock meal.
John was too late to eat.

John did not plan to arrive at noon.

John arrived at twoc o'clock.

A used book is $6 cheaper than a new book.
A used book costs $2.50.

Mary saved $3.50.

A new book costs $8.50,



